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ma Assignment e—

Complete pgs. 352 - 354
Questions

4,9, 10(a-d),
11ab,15(a-d) and 20(a-c)
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4. What s the numerical value for each
rational expression ? Tdentify any
non-permissible Values.

a) 2s-8s b Ax-3
S sy =y o
= —o& = Y=g
2 -5x+3

= - 6,8%0
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Solutions ———————————

9. Simpl 1-9\/ each product. Determine all
NON- pcrm\s&b\e values.

a) 2 @ X B) 4P x |
2)(\0 %CL _ lomst®
RGO E!(oti
= = I, MEO,£#£0
a3 )

gr
_%QD C+0, p%O

) ng:ﬁbx i d) X244 % 2,>« U+ 10X
a+b X*+25 XEPr2X

= SCM X 4 = (X=De?) % 256 X+5)
B @ % ab) X2+ 28 HK( AL
= (3)(H) = 2(X=2(x+5) x#o, 2,
_ < _ X2*+05 _
=l 12 ,
)
= %) a#£=-b
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e) d1+3cl +2 x 2d+G

+ 2 d2+5d+6
= Cé’\"ﬂ(d——i'%) X

2(S+r3).
ZLQL;:TE ) l _L@ﬂ)(e}ﬂ%)

$)¥£_3(_Cl X %9 +%xy‘ﬁ5
l0y+q V

2

= rndem x emny-8) X &—s)(ws)
Cw ) T/ \)(),H—l' -—\/+

= 5!:_8.)2 % £ (155
| N
= (\f (83(\/1-5)
= l
- BN ES) £ 19,4, 5
: (\[ —-1)
|0. Divide. Express answers in Simplest
form. TdentiFy any NON-permissible
values.
Q) 2t~ 1
L_!.
= 24+ X &
1
= 3T

1
= Rt
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b)Y a3 =—qag°
| b‘* b3
= 9% xp®
b o3

= 'El; Q#¥Q, b#0

XB=y2 XY
-] p '
(=% ry) =35
-3 XAV
g =1 ox#F=Iy
5CX+Y :

d) 60+q e +C:,c1+q
~3

_ 3(Q+3) = fOtS“CQtS)

=M)X :3’.‘____
C_G::S}MJ
= 6 , QFE3
a+3
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. Multiply or divide as indicated.
press’ answers in Simplest form .
Detrermine all non-permissible values.

a) 9 =13 %x m
2M ™M 3
= 9 % £ X M
Plr SR G|

= o)

= 9m
18
= mM ’m#o

2

B) X*P=3%+2, x X+3. = _1
X2=N b i e . ' 0

= (x- N X 24D x XAZ
CDCAZ) XEAD)

s . A jx-f“:iL,O:,"?J

X

15. Add or subtract. £xpress answers in
simplest form. Tdentify any
Non-permissible values.

Q) 4X=3 - X-2,

G 4

= 23x-3) — J(x-2)
V3, |2

= 2(H%-3)-3(X=2)

=R
= Sx—G-3x+G
K
= 5%
3
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X-3 %9
- P

X-3 (X-3)Y(X+3)
= O(X+3) + 1

B (x-3XX+3)  C-BXX+I)

CX-B)XT3
IGx+34 x+=i3
CX=JBYX+I)

d) _a - a*-3qg_
a+3 cﬁﬂg Q -—%
= _Q _-—qala=-3
Q+3  (a+3)oR)
=_ala-2) —-ala-3)
Ca+3Xa-2) (a+3Xa-2)
O*-20-—0% 124
Ca+3)a-2).

aQ__ oI el
Cor+3)a-2)’ :

—

May 15, 2014
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20. Solve each rational CQ.LQ‘HOD jfE:len‘l'nCy
all non-permissible valu |

a) S-3 = 20
S 3
%[ 5__,_1 S+302]

S— 3 2(s5+3)
S—=3=28+06
— A~ = 2S-S

-9 =8 ,8+"5

by Q(_%: %i% |
@eri)(x—l)[ X+ 2 “l = (3x+2)0s99 1_5_]

| Cx—)(m-z) (3x+2) (X+3)
AKEL2X=|x— 3X*+aAx+2%x+ 6
X°'+X2 AX*+VIX+g
O = By 2%+ | X=X +6+ 2
O= OX*+ 10X +8 i
Q=203+ +4)
O=2( X +DX+4)

O= X+ o O=X+4
“1=X “H=X, XEL
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c) z__:b -%—_%__ :L
5zrz—2 +17]= 52 e I
5 | 5z |

e 2] o [4] =5
S5(z-2)+ z0) =-4
S5z2-10 + Z = -4
=: -’—¥+!O
L=
% f)1¢0




	Page 1: Apr 13-1:23 PM
	Page 2: Apr 13-1:35 PM
	Page 3: Apr 13-1:35 PM
	Page 4: Apr 13-1:35 PM
	Page 5: Apr 13-1:35 PM
	Page 6: Apr 13-1:35 PM
	Page 7: Apr 13-1:35 PM
	Page 8: Apr 13-1:35 PM
	Page 9: Apr 13-1:35 PM
	Page 10: Apr 13-1:35 PM

